MOLE QUANTITY

GENERAL = SPECIFIC

If you are given 128.0 grams of sulphur dioxide gas:

(a) How many moles is this?

(b) How many molecules will there be in this much SO, ?

(c) How many sulphur atoms would be required to make this much SO>?

(d) How many grams of sulphur would there be in this much 5O5?

(e) How many oxygen atoms would be needed to make this much SO,?

(f) How many molecules of oxygen gas could you make from the amount of
atoms in part (e) ?




If you are given 3.600 moles of calcium hydroxide (Ca(OH)) :

(a) How many moles of hydrogen atoms would be required to make this
much Ca(OH)2 ?

(b) How many grams of hydrogen atoms would be present in this much
Ca(OH).?

(c) How many grams of oxygen atoms would be present in this much
Ca(OH),?

(d) How many grams of calcium atoms would be present in this much
Ca(OH).?
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If you are given 3.600 moles of calcium hydroxide (Ca(OH),) :

(a) How many moles of hydrogen atoms would be required to make this
much Ca(OH), ?
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(d) How many grams of calcium atoms would be present in this much
Ca(OH)2?
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MOLE CONVERSION MISCELLANEOUS REVISION

1. What is the mass of —

(a) Avogadro's Number of atoms of calcium?
() 12.04 x 10% molecules of hydrogen chloride?

2. How many atoms of iron are contained in —

(a) 0.100 mole iron?
(b) 3.00 moles iron (IlI) oxide?

3. Determine the number of moles of —

(a) sulfur atoms
(b) oxygen atoms

in 0.200 mole of sulfur dioxide.
4. Find the number of moles of hydroxide ions in 0.250 mole magnesium hydroxide.
5. Whatis the mass of 1.00 mole nitrogen

(a) molecules?
(b) atoms?

6. Determine the mass of 1.00 mole copper (ll) sulféte pentahydrate.
7. What is the mass of —

(a) 0.200 mole of silver oxide?
(b) 5 moles of sodium sulfide?

8. Calculate the number of moles of lead (lI) chloride in 83.4g lead (ll) chloride.

9. Find the number of moles of potassium in —

(@) 0.100 mole of potassium hydrogensulfate.
(by 87.0g of potassium sulfate.

10. How many grams of carbon are contained in 2.50 moles calcium hydrogen-
carbonate? '

11. Determine —

(a) the number of moles of nitrogen dioxide in 9.20g of nitrogen dioxide (NOz).
(b) the mass of nitrogen in 9.20g of nitrogen dioxide.



12. 1.20 moles of an organic compound has a mass of 84.0g. What is the
molecular mass of this compound?

13. Calculate the mass of —

(a) 1.50 moles of silver nitrate.
(b) 0.500 mole of sodium carbonate.

14. Determine the number of moles of magnesium nitrate in 43.0g of magnesium nitrate.
15. What is the number of moles of sodium in 284g of sodium carbonate?

16. How many moles of oxygen atoms are contained in a 32.54g sample of zinc oxide?

17. Find the mass of chlorine atoms in
(a) 1.50 moles of chlorine (Cl2) gas.
(b) 0.200 mole of sodium chloride.
18. Calculate the mass of nitrogen in 0.600 mole of ammonium sulfide.
19. Determine the number of moles of calcium in 29.6g of calcium hydroxide.

20. 0.800 mole of a compound has a mass of 51.2g. What is the molar mass of
this compound?
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